REVIEW QUESTIONS

Multiple Choice Questions :

1. Puta ti

ck mark (y”) against the correct alternative in the following statements :

() In a germinating seed, the roots develop from :

(i) Radicle

N

(iii) Tegmen

(i) Plumule

(iv) Hilum

(b) In a germinating seed, the shoot develops from :

(i) Radicle

il

(iii) Tegmen

(c) Which one of the following is a monocotyledonous seed ?

(i) Bean [ ]
-(iii) Maize

(ii) Plumule
(iv) Hilum

(ii) Pea

(iv) Gram

Oy UL

(d) If the cotyledons are pushed above the soil, then such type of germination is called :

(i) Epigeal [ ]
(iii) Perigeal [:,

(e) If the cotyledons remain under the soil, then such type of germination is called :

(i) Epigeal [ ]
(iii) Perigeal ] |

(f) Pollen is produced in the :

(i) Filament

[ ]
(ifi) Pistil ]

23

(ii) Hypogeal
(iv) Progeal

(ii) Hypogeal
(iv) Progeal

(i1) Style
(iv) Anther

X

a

S

The Flower



@]‘\f’w"f QUNR [ A /2/1_1 LA fi/mv)’\ ; G TR Q_quC‘)\;\:_

QL- Qibny Sl T, B
d, | n :‘_’-

. 1
&\,‘ .sli LA E I AUAABT -1 (A WO N0A” S NJ

158 L 5 mi,m i meﬁm’) _

l'; ), ult

A ﬂﬂ.i'u_,ﬂ.& the eulin wal mﬂ-

i Clurulo -Gt i Locatod Atisesn by tise (ﬁ%ﬂeﬂumw
lo_uhest -
g'f? ' Q-—f}t ( JQCDTQA Mﬁ@ﬂj}lﬂ _(119’91 ot

o siedl -




2. Name the following :
(1) A seed which shows hypogeal germination.
P% .............................................................................................................
(b) A monocot seed.

Mouze.. 811&&7”\ .......................................................................................

(c) A dicot seed.

VIR, B

(d) A seed which shows epigeal germination.

It




